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SUBJECT: ENGLISH

LITERATURE TEXT BOOK
Answer the following questions in about 120 words:

a. Describe the interaction between the granddaughter and the grandmother during the teaching-
learning process. What does that reveal about the importance of mutual respect and cooperation in
achieving a shared goal? (How | Taught My Grandmother to Read)

b. The brook continues its journey despite obstacles. Explain how this reflects resilience and
persistence, and relate it to real-life situations. (The Brook)

c. Throw light on the emotional bond between Chuck and Duke and emphasize how it played a role in
Chuck’s recovery. (A Dog Named Duke)

GRAMMAR (VERBS FORMS) & WRITING SKILL (UNIT 1: PEOPLE)
Complete the following story using the correct form of the verbs in brackets:

Last summer, | (decide) to go on a trekking trip with my friends. We (reach) the base camp by the
evening and (start) our hike the next day. By noon, we (realize) that we had forgotten to bring enough
water. Fortunately, we (find) a small stream and (manage) to refill our bottles. We (continue) our
journey without any further problems. As we (climb) higher, the weather (change), and it (begin) to
rain heavily. We (take) shelter in a cave and (wait) for the rain to stop. By the time the rain (stop), we
(decide) to head back.

"The best way to predict the future is to create it." — Abraham Lincoln
Write a paragraph in about 150 words describing a public figure who has had a significant impact,
either locally or globally. In your paragraph, focus on:

* The achievements and contributions of the person.
* Their character traits that you admire.
* How their work or personality inspires you or others around you.
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SUBJECT: MATHEMATICS

1 _ _ . X\ v\
If x = 2 & y = 4 then what is the value of (;) + (;)
is equal to
(@6 b) 4 c)8 d) 10
2 The product of two irrational numbers is
(a) always irrational (b) always rational (c) always an integer (d)
sometimes rational and sometimes irrational
3 When p(x) = x3 - 3x? + 4x + 32 is divided by (x + 2) the remainder is
(@o (b) 32 (c) 36 (d) 4
4 | If one angle of a triangle is equal to the sum of the other two angles, then the
triangle is
(a) an isosceles triangle (b) an obtuse triangle (c) an
equilateral triangle (d) aright triangle
5 Zero of the zero polynomial is
(@o (b)1 (c) every real number (d) not defined
6 In AABC, if £A - 2B =630 and 2B - 2C = 189, find the measure of /B.
7 | Without actually calculating the cubes, find the value of 483 - 303 - 183.
8 | CASE STUDY QUESTION
Sudhir and Ashok participated in a long jump competition along a straight line marked as
a number line. Both start the jumps one by one but in opposite directions. From ‘O’
Ashok jumps one unit towards the positive side while Sudhir jumps double in units as
Ashok jumps, along negative side. After jumping 4 jumps each, at which point Ashok and
Sudhir reached.
(i) Calculate the distance between their final positions.
e |
54-3-2-1 012 3 465
(ii) Insert two rational numbers between 1 & 2.
(iii) Ashok argue that he is the winner since Sudhir is at negative side. State the reason
who is the winner.
8 |Factorise- a(b—c}+b(c-a)’+c’a—b)’
PROJECT WORK

Art integrated project on Polynomials




SUBJECT: SCIENCE

SECTION - A (PHYSICS)
Read the passage carefully and solve the following questions by deploying Equations of Motion

for uniform acceleration along straight path:

[Reminder: Don’t forget to consider sign convention while you deal with the vector quantities
like displacement, velocity etc.]

Highest point E

&

/ Initial

| direction is +Ve& .

Measurement in this |
direction is +Ve

One day Superman was sitting at the roof of a very tall building and was playing with a ball. While
playing, he threw the ball vertically upwards from position A with an initial velocity 40 m/s. A
constant acceleration of 10 m/s® due to gravity was acting on the ball in downward direction.
After reaching at the highest point E, ball moved downwards and this time superman did not catch it.
During the downward motion, while crossing the point A, the ball was displaced to the point F and

then to G after each consecutive second. Finally, the ball hit the ground in after 11 seconds.



(a) After each second if the ball was displaced to the point B, C, D and finally reached to point E,
calculate the displacement of the ball after each second by taking point A as the point of
reference.

(b) Plot these calculated data in a displacement-time (s-t) graph with proper scale.

(c) Find the velocities at points B, C, D and E while ball was ascending. Also plot these data in a
velocity-time (v-t) graph with proper scale.

(d) “When the ball was moving downwards after reaching at the highest point, the ball would be at
the point D, C, B, A after every second”. Verify this statement by calculating the displacement
from initial position, and, if it so, add these displacement values to the aforementioned s-t graph.

(e) Also find the velocities at points D, C, B and A while ball was descending. Add the velocity
values to the previous v-t plot.

(f) Finally, Calculate the displacements of the ball from initial point when the ball was at the point F,
G and H. Add the result to the same s-t graph. Also find the velocities at these points and
complete the v-t graph.

SECTION - B (CHEMISTRY)

1. Select and write most appropriate option out of the four options given for the following
question.

Which of the following is not correct regarding gases?
(a) Gases exert pressure.
(b) Gases have large intermolecular spaces.
(c) Gases have weak tendency to diffuse.
(d) Gases have weak intermolecular forces of attraction.

2. Assertion-and-Reason Type Question

Question consists of two statements, namely Assertion (A) and Reason (R). For selecting the
correct answer, use the following code:

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is a correct explanation of
Assertion (A).

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not a correct explanation of
Assertion (A).

(c) Assertion (A) is true and Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is true.

Assertion: Liquids diffuse less easily as compared to gases.



Reason: Intermolecular forces are greater in gases.

3. It is a hot summer day, Kamal and Kajal are wearing cotton and nylon clothes respectively. Who
do you think would be more comfortable and why?

4. The given graph shows the heating curve for a pure
substance.

(a) What is the physical state of the substance at the points
A, B, C and D?

(b) What is the melting point of the substance?

(c) What is its boiling point?

5. In an experimental activity, crushed ice was taken in a beaker. A thermometer is fitted in such a
way that its bulb is thoroughly surrounded by ice. The beaker is now slowly heated and
temperature was regularly noted. Temperature rises gradually as the heating is continued and
becomes constant when ice starts changing into liquid.

(a) What name is associated with conversion of ice into water?
(b) Identify the heat added to the system at constant temperature to bring the change of state.
(c) Where does the heat energy go when the temperature does not rise?

SECTION - C (BIOLOGY)

Answer the following questions:

1. If you are provided with some vegetables to cook, you generally add salt to the vegetables during

the cooking process. After adding salt, vegetables release water. What mechanism is responsible for
this?

2. Do all cells look alike in our body in terms of shape, size and structure? What similarities do they
have?

3.State the following changes
a) When the cell placed in hypotonic solution.
b) When the cell placed in hypertonic solution.
4. Differentiate between plasma membrane and cell wall.

5. Mention two similarities between Plastids and Mitochondria.



10.

SUBJECT: SST

‘Social disparity was one of the major causes of the French Revolution’. Justify the
giving statement. (5 points)

Explain the role of thinkers and philosophers in the French Revolution.

“A legitimate election system enriches democracy”. Discuss five points with your
opinion.
Describe any three features of non-democratic Pakistan under General Musharraf.

List down the fixed capital and working capital for Kareem.

‘Modern farming methods require more inputs which are manufactured in industry.’
Give reasons in support of your choice.

Explain the ways in which small, medium and large farmers arrange the capital
required for their agricultural process highlighting the challenges faced by the small
farmers.

Mention the significance of India’s central location.

‘The difference between the durations of day and night hardly felt at Kanyakumari
but not so in Kashmir.” - Elaborate the statement.

Give an account of the Northern Plains of India.

Activity:

The French Revolution saw the rise of newspapers describing the events of each day
and week. Collect pictures and information on any one event and write an article.

Map Based Work —

On a political map of India locate & label the following:
i) Tropic of Cancer

i1) Standard Meridian (82° 30’ E)

iii) Southernmost point of Indian Union
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